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Measure the length of the line segment indicated exactly to the millimetre.
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Measure the length of the line segment indicated exactly to the millimetre.
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Length of OB : 3cm
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3)

Measure the length of the line segment indicated exactly to the millimetre.
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Length of C'B : Ocm
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Length of AC : 2cm
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Length of C'B : lem Length of AC : 1cm
4)

- Quick:
5492

Measure the length of the line segment indicated exactly to the millimetre.

a) 8 &

I
1 2 3 4 5 6 7 8

Length of AC : 1cm
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1 2 3 4 5 6 7 8

Length of AC : 3cm
Good Luck!
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